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f x is the brother of th
how is x related to y?
(A) son
(B) Brother

(C) cousin

#D7 Grandson

Pointing to kapil, shilpa Said "His

mother's brother is the father of my
son Ashish.” How is kapil related to
shilpa?

\@/Sister-in-law

(B) Nephew

(C) Niece

(D) Aunt

In a class, 3/5 of the students are girls
and rest are boys. If 2/9 of the girls
and 1/4 of the boys are absent, what

part of the total number of students is

present?

(A) 3L

y 18
49

c %

(D) None of these
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Who IS eldest?

(Y Alka B) M
D

(C) Kapil
5 Read the followind in

answer the question:

(A) Mala

(C) Alka (D’f Kapil

6. Choose the venu-diagram which best

illustrates the three given classes In

the question

©@%
:
(1) (2) 3)  (4)
Citizen, Educated, Men -
(A) 1 -
(B) 2
(C) 3

) 4

18099\S\2024

el & R T A R e A
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O
(o) (@) "5 (¢
O
(1) (2) (3) (4)

Citizen, Educated, Men
(A) 1
(B) 2
(C) 3
(D) 4



7. In the following diagram'
represents  doctors, .
represents players and the
represents artists

3
% 2

a D

triangle
circlé
rectangle

1 = <t < 39 Raenfsdl @1 awndt & i
- STaeR ¢
Which number represents players who Al FEHR & T €
are neither artists nor doctor> (A) 1,2 (B) 3,4
AA’)/ 1, 2 (B) 3,4 - ©) 6,7 (D) 7,8
(C) 6,7 (D) 7, 8 g | . .
8. In the following diagram, triangle 8. = anepfa A Y gl @1, g1 Raemisal
répresents doctors, the circle represent oIT 31Td BATDRI DI yefdfd &l &

players and the rectangle represents

artists
: ‘ IRE A P A T SR Y gy & ;
Which number represents doctors who 1l Ree! & 7 & SR €
are neither players nor artists? (A) 2 (B) 3
(A) 2 (B) 3
oo (D) S (€) 4 (D) 5

J- What will be the angle between the 9. gm: 915 R ust Bl Fgai & dra vy R

hands of a clock when the time is at

BT DIV g7

9:15am.?

(A) 172.5° (B) 1150 (A) 172.50 (B) 1150
(C) 360° (D)180° (C) 360° (D) 1800

10. If 12th January of 2024 was friday, 10, gfe 1o SHET 2024 ) YHAR AT Gy 7

then what will be the 7 June of 2025 June 2025 &1 a1 o gnm?
4% Monday | (A) HHaR
(B) Thursday (B) THAR
(C) Saturday (C) oiNEr
(D) None of these (D) 99 9 aﬁg &Y
18099\S\2024 [5]



11.

12.

13.

Which of the following is a leap years?
(A) 1600

(B) 2000

(C) 2400

(D) All options are correct

If the seventh day of a month is three
days earlier than friday, what day will
be on the nineteenth day of the month?

(A) Sunday (B) Manday
(Q)/Saturday (D) Thursday

At 3:30PM, the minute hand of a clock
points towards East Towards which

direction the hour hand will point at
9:00 P.M.?

(A) South

(D) None of these

14. Select the pair that has the same

15.

relationship as the original pair of

words:

Darkness: Lamp
\LMjF;tigue : Exercise

(B) Thirst : water

(C) Medicin : Iliness

(D) Study : Classroom

Select the pair that has the same
relationship as the original pair of

words
Hospital : Doctor
(A) Army : Soldier

t(.&)/School . Teacher

(C) Lawyer : Court
(D) College : Student

18099\5\2024

11.

12.

13.

14,

15.

1 Y B w1 g 3o 2

(A) 1600

(B) 2000

(C) 2400

(D) ¥4 fadew @&l

aft F5t AR &1 Irdai &7 gpar 9 3 fé
Ted UEa &1 39 Wi @i 194t fo b i
qT?

(A) @R (B) WMAR

(C) 9fFEr (D) THAR

% 3:30 PM R fire areht G @ faen gd 3

(D) ¥ ¥ PIF Tl

3 S BT TG PR [TDT Hael T @I DI
Sl & THH &

3ORT : o1

(A) B : M

(B) @ : gt

(C) earg : femmd

(D) 3reqH : Hem

I MG BT T IR ! Hewer g vl
B! S B T B
AT : STFX

(A) ¥r-Rau@
(B) el : HEATTH
(C) TP : DIE
(D) faemer - faemelt



16 Find the missing term.

/n\
N ¥

ZENEAN

] 190

(B) 236
(C) 255
(D) None of these

17. Find the missing term
AT 16
(B) 21
(C) 61

(D) 81

18. Find the missing term

10 o
8 6

(Ay6

(B) 8

(A) 6

(B) 8
(C) 9

(C) 9
(D) FT A B T

(D) None of these
P.T.O.

180991512024 (7]




itten
19. In a certain language COVET is WI

as FRYHW, then which word would b€ SHDl; & I By - N ir
written as SHDUO? ) QC:JAKE STTUaT |
(A) QUAKE B
) REPAY
g © rean

' (D) TIEVP
«0f TIEVP

. 20. .
20. In a certain language BAN is writte€n as e oy BC WIS H BAN @Y DCP forgy

Ty
DCP, then SDM would be written as? é. al SDM & & R o> ..
(A) EPH (A). EPH
(B UFO (B) UFG
(C) BGC : (C) BGC
(D) DEF (D) DEF
21. In a certain code MANIA is written as = 21. v fifyaq ge sy & MANIA @ NZOH,
NZOHZ and PROUD as QSNTE. How 3R PROUD @1 QSNTE Rt 3 2 %
will word 'DONKEY' be written in that RC W A 'DONKEY' @) 59 gor o
code language? SITeA |
(A) ENOLDZ | (A) ENOLDZ
(B} EPOLFZ (B) EPOLFZ
(C) CNONDZ (C) CNONDZ
(D) None of these (D) 394 ¥ 1S &
22. If DOG=67, then FOX=? 22. Tt DOG=67, A FOX=">
(A) 114 (A) 114
(B) 59 (B) 59
(Cy53 (C) 53
(D) 55 (D) 55
23. Find next term 23. 3ET U S| o)
Z,L,X,J,V,H,T,F,? 7 ' Z, LX), V,H,TF? ?
(A) R, D (A) R, D
(BY'R, E (B) R, E
(C) S, E (C) S, E
(D) Q, D (D) Q, D

18099\8\2024



Gelect the pair that hasg the

9]

24. | | same
relationship an the origing bair of
words:
gignal : Traffic
(A) Dam : River
(B) Lens: Light
(C) Door: House
(D) Operation : Doctor

Js Select the pair that has the (.
relationship as the original pg; of
words:

Plants : Coal

(A) Crops - Manure
(B) Animals : Oil
(C) Cow : Milk

(D) Fire : Smoke

6. Select the pair that has the same -
relationship as the original pair of
words:

Coal : Thermal

(A) Power : Energy
(B) Bulb : Light

(C) AiIr: Atmospher
(D) Water : Hydel

27. Immigration is related to Arrival in the
same way as Emigration is related to--
(A) Emigrant (B) Native
(C) Leaving (D) Alien

“28. Tungstan is relatd to Filament in the
same way as Bronze is related to -
(A) Copper (B) Ships
(C) Tin (D) Ornaments

29. Heart is related to Blood in the same
way as lung is related to -----

(A) air (B) oxygen
(C) chest (D) Respiration
18099\8\2024

24.

25.

26.

27.

28,

29.

(D) 3 : g3

7 S @1 T R (o qaH g Il
$ e B THH &

I : THA

(A) 5 : B

(B) dcq : DRI

(C) T : aTgwvea
(D) uﬁ’raaﬁgﬁ
YATE Bl Gae 3T A 3 IBR & ford

llllllll

(A) 3amErdl
(C) B
de @1 Gae feemic ¥ 39 woR & ford
YHR BRI BT Fae ... .

(A) DR (B) ST

(C) f&= (D) 3myoT

gy B 998 @ ¥ N VoK & o WeR



30.

31.

32.

33.

(C) Letters |
Read the following informat!

answer the questions: A |
ala. Gopal IS older

@s older than M‘ o
than Mala but younger than Alkﬁ. p

older than Ram
Whose age is betw

(A" Mala

(C) Alka
Read the following inform

een Gopal and Ram?

(B) Kapil
(D) None of these
ation and

answer the question.
Alka is older than mala. Gopal is older

than mala but younger than Alka. Kapil
is younger than Ram and Mala. Mala Is

older than Ram.
Whose age is between Mala and Kapil?

(8y Fam

(D) None of these

(A) Gopal
(C) Alka
Read the following information and

answer the questions.
Alka is older than Mala. Gopal is older

than Mala but younger than Alka. Kapil
IS younger than Ram and Mala. Mala is
older than Ram.

Whose age is exactly in the middle of

(B) Gopal
(D) Alka

18099\5\2024

31.

REE o R e

; @Wﬁﬁ%‘l@w@aﬁ

I/i' Mala IS

"ot o & g #(of o

8 o &1 e & wd &
ToRTeY 331 et 3t < 3 v 22

(8" e (B) B
(C) s (D) 378 ¥ B T

32, 1 SRt @1 0 3R e @ 3R 3

tlic 3rcTeeT BT &1 Biet, IW 3R
¥ BiTT &, W1 T & & R

e 35 A1en 3R BiUa & 2|
(A) e (B)-
(C) 3rcTa (D) T A P T8

33. ¥ @RI @ 1g 3R e B1 IR 2

[10]

A STt W BieT &1 et < 3R A ¢

BieT 1 Aol 79 981 &
faa! 39 3 ural @ 3t drd A €
(A) HIetl (B) T

(€) (D) 3rera



in the given figure  whjch region  34. fop=1 3l A HF 1 B @ & wefta

represents leaders WNo are \qiipor Far & 3 7 o) e & 9 8 2Rua 2
Slnger nOt Indlan?

Indian A Leadere A
&, VA

Singers

(A) 2 B) 3 il o
©r% (D) 7 (C) 6 o

35. In the given figure which region 35. ﬁmmﬁﬁmmﬁmwaﬁﬂaﬁh
represents singers WNO are pgither B & 3 A a 3fsT 8 9 & e &

ian nor leaders? '
Indi i
Indian Leaders

/2
- (X 5
e o

Singers RTR
(A) 1 (B) 2
(A) 1 (B) 2
(©) 3 @) 7 s 3 o

36. In the given figure, which region

36. 1= apla & o9 o e 3o R
represents Indian singers who are not ("'I’IB‘\' qﬁ % 2 " 3t
leaders? BT &

| IS
Indian

Leaders

JN/ Singers (A) 1
1 (B) 2

(C) 3 (D) 4 (C) 3 (D) 4
18099\8\2024
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37. Choose the venu-diagram whi

| e
ilustrates, the three given class

the question.

O 0 O
(o) @
ny o @ 2 @

Doctor, Lawyers, professionals

(A) 1 @2

(C) 3 (D) 4
38. Choose the venu-diag

- 5 IN
illustrates the three given classe

the question.

(1) (2) (3) (4)

Honesty, Intelligence, Aptitude

Y4 1 (B) 2
(C) 3 (D) 4
39. Choose the venn-diagram which best

illustrates the three given classes in

the questions.
O
OO
O
(1) (2) (3)  (4)

Mercury, Mars, Planets

" 1 o,

©) 3 (D) 4

18099\8\2024

[12]

ch hest
g IN

ram which best

7. W& 4 3y T 3N o ey e o A o

Y I 3y aten )

| O
: O )
(3) 4)

(1) (2)
DOC['Q,; Lawyers, Professionals
(A) 1 (B) 2

(C) 3 (D) 4

38. & & s oy St we o R M A

I e ey gl )

@

(1) (2)

Honesty, Intelligence, Aptitude

(A) 1 (B) 2
(C) 3 (D) 4
39. Wl & 3R T 51 e 1 @ anit o )
ren avifar @
O
OION
o 09
(1) (2) (3) (4)
Mercury, Mars, Planets
(A) 1 (B) 2
(C) 3 (D) 4



nd the missing term,

40. F 40. AT T2 dT TaAT M|

i
7,8, 18, 66,2, 1938 7 8, 18, 66,7, 1938

(R) 928 (A) 928
(B) 686 (B) 686
(€) 439 (C) 430
(D) 324 (D) 324

41. Find the wrong number 824, 40g 396 a1 TEd e S il

96, 44,18, 5 804 408, 396, 96, 44, 18, 5
(A) 408 ) 408
(8) 396 (B) 396
(C) 96 ) o6
{7 44 (D) 44
42. Find the missina term. 47 ETOET T & I @
4

&> A

«f 74 (A) 74

(B) 62 | (B) 62
(C) 91 (©) 91
(D) 97 (D) 97 -

180991512024 (13] oTo



43. Find the missing term 578, 5?7, 568, 5437
?

578, 577, 568, 543 (A) 528

(A 528 (B) 518

(B) 518 (C) 532

(C) 532 (D) 494

4 !'I .
(D) 49 oded 44 T 5T T 3 GRASP B BMVNK firy
pis
44. In a certain languageé GRA .
coded ST @1 3= wmr ¥ few I B CRANg

|d be
< BMVNK, which word wou

d e <o
as CRANE? .
- (B) HWFS]
o (C) GVERI
. Vf:: (D) XMVIZ
(D) XM

les are theré in the 45. fe m@%ﬁ S |

45. How many triang

following figure?

(A) 15
((: 11;5 (B) 13
“ey 19 (€) 19

(D) & A B3 el

(D) None of these

18099\8\2024 »



46. How many triangles are there in the
following figure?

(A) 13 (B) 32
(C) 21 (D) 24

47. In the given figure, which reqion
denotes Indian leaders who are not

singers?
Indian Leadedt
Singers
(A) 2 (B) 3
(C) 4 (D) 5

48. Inthegiven figurewhichregion denotes

Indian leaders who are singers?

Indian Leaders
Singers
(A) 2 (B) 3
(C) 4 (D) 5

18099\8\2024
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46. {51 sl A Bngstt @ wwm s Sy

(A) 13 (B) 32
(C) 21 (D) 24

47. = ampfa & @ A1 fEe §isa oiss S l
RR 78 & & wefdia & 2|
HECE] ES

X
(5 '
N\, ‘

R

(A) 2 (B) 3
(C) 4 (D) 5

48. frer sl o @i &1 R §fae AR A
R & @1 wefdfa oxar &

iR
&

QIES

P.T.O.



wa
49. A is 3 times as olds as B. C

50.

51,

52.

s twice

e the
years time A will be 31. What ar

present age of B and C?

(A) 9, 46

(B) 9,50

(C) 10, 46

(D) 10, 50

Select the word which is different from
others

(A) Pathology

(B) Histology

(C) Haemotology

(D) Archaelogy

Select the word which is different from
others

(A) Investigation

(B) Analysis

(C) Search

(D) Conclusion

Select the word, which ijs different
from others.

(A) Infrared Rays

(B) Radiowaves

(C) X-Rays

(D) Ultraviolet Rays

180991812024
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49.

Aa%maa%’rsﬁg,wwécﬁ?g
V4 A
a?rwa?r?ﬁ‘ra?nwém“ﬁmaw

B St Baihca?rmsﬂwwm
(A) 9, 46

(C) Haemotology

(D) Archaelogy

Pl I I 1 T i i g

(A) Investigation
(B) Analysis
(C) Search

(D) Conclusion

02. I Y& BT T BISTE I 307 ) R 2

(A) Infrared Rays

(B) Rad ioaneS
(C) X-Rays

(D) Ultraviolet Rays



53, Select the word, which i different
from others
(A) IMF
(B) SAARC
(C) UNICEF
(D) WHO
54, 1VORY:ZWSPJ::CREAM:?

(A) NFDQB

(A) 130
(B) 125
(C) 102
(D) 75
56. Physiology:Biology:: Metaphysics:?
(A) Physics
(B) Statistics
(C) Mathematics
(D) Philosophy
57. Water : Oxygen :: Salt:?
(A) Iron
(B) Sodium
(C) Calcium

(D) Protien

18099\8\2024

53.

54.

55.

56.

57.

7 9T 1 Ta e F 3= A i A

(A) IMF
(B) SAARC
(C) UNICEF
(D) WHO

[VORY:ZWSPJ::CREAM:?
(A) NFDQB

(B) SNFDB

(C) DSFCN

(D) BQDZL
31:90::43:7

(A) 130

(B) 125

(C) 102

(D) 75

Physiology:Biology:: Metaphysics:?

(A) Physics

(B) Statistics

(C) Mathematics

(D) Philosophy

Water : Oxygen :: Salt:?
(A) Iron

(B) Sodium

(C) Calcium

(D) Protien

P.T.O.
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- tin
58. Select the figure that will come NeX

the following series.

(C)

O 9
ol

Q

0 0

™ G

0
OO
OO o0

>9. Select the figure that will came nextin — 59. 39 3mofy &1 T &Y 3 Frriiag G
the following series. H 3mY 3w

k

|

18099\S\2024
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i’ 5e|ect the figure that Wil| .

thé following series, “Me next in

e following services. i
B 3 3mA |

119] PT
T.0.




62. Arrange the following in logical other

1 Book .

2 Table'

3. Student .

4. Chair .
-

5. Room

(A) 5,1,3,2,4
(B) 2,3,5,1,4
(C) 2,3,5,4,1
(D) 5,4,3,2,1
63. Water : Dam :: Trade:?
(A) Commerce
(B) Economy
(C) Goods
(D) Trade Policy
64. 384 :7::216: 63
(A) 128
(B) 124
(C) 112
(D) 192
65. ADE : FGT :: KNO:?
(A) PQR
(B) TPR
(C) PQT
(D) RQP
66. ABC : ZYX : CBA:?
(A) xyz
(B) BCA
(C) YZX

(D) ZXY
18099\5\2024
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62 IR 3% o o 41 e

64.

65.

66.

Book
Table

Student
Chair

AW N e

384 :7::216 : 63
(A) 128

(B) 124

(C) 112

(D) 192

ADE : FGT :: KNO:?
(A) PQR

(B) TPR

(C) PQT

(D) RQP

ABC : ZYX : CBA:?
(A) Xyz

(B) BCA

(C) YZX

(D) ZXY




_ res) under varic tion o - U'ON and 67, %ﬁaﬁﬂ%ﬁﬁﬁmﬂimwmﬁﬁm
B & fere vt & faeror ( |
U3 )

o f5 3 wadl &1 S @ GHal & ded
unde:N t:e food crops? rea el & BT 50% qNTer 3T 2l
eat =
(A) Barley and Jowar (A) T, Jt 3R TR

(B) Rice, wheat and Jowar
(C) Rice, wheat and Barley
(D) Bajra, Maize and Rice
g8. Study the following information and
answer Distribution of areas (in acress)

(B) arad, g 3R &R
(C) am@a, 7 3R i
(D) dT5RT, Had! 3R Arael
68. Fr=fafad @RI & NMUR R IR alor|
e et & foe &Ft @1 faawor (vdhs #)

under various food crops.

If the total areas under the jowar was
1.5 million acres, then what was the

afe 5aR & =<ia pa &7 1.5 ffera= vdbs

areas (in million acres) under Rice? ?aﬁ Trad & S {8 8?
(A) 6 (A) 6
(B) 7.5 (B) 7.5
(C) 9 (C) 9
(D) 4.5 (D) 4.5
18099\S\2024 [21] P.T.O.



ation and 69- X 'im@ﬂaﬂmﬁ%mm‘rmml

69. Study the following inform
(in acres)

answer: Distribution of areas
under various food Crops.

If the production of wheat is 6 tIMES

that of barley, then what IS the ratio !
between theyyield per acre of wheat ?m];—?\aﬂ? AR & Yid Ubg Jedre- BT 3
?:;j t;aflezy? (A) 3:2
(B) 3:1 (B) 3:1
(C) 12:1 (C) 12:1
(D) 2:3 (D) 2:3

70. Study the following information and  70. Frafefea FHER % 3TUR TR 3% Al
answer: Distribution of areas (in acres) faftrs waat & fore &Ft &1 faaxor (vhe #)

under various food crops.

gfe arad & Yid UHs I aR & IR

If the yield per acre of rice was 50%
' T 50% 3P &, d TR BT 3 Iad B

more than that of barley, then what

production of barley is what percentage 3T P e Hicreret &2

of that of Rice? (A) 30%

(A) 30% {

(B) 33%% (B) 333%

(C) 35% (C) 35%

(D) 36% . (D) 36%
18099\5\2024
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 If the total area goes up by 5y, ,ng
the area under wheat produyction goes
up by 12%, then what will be the 5 ale
for wheat in the new pie-chart?
(A) 62.4°
- (B) 76.8°
(C) 80.6°
(D) 84.2°
72, What should be the number opposite  72.

SER

) - - C e ‘-:1 5 ¥ A - -' -_-_-| ...- - ., . il L& . B
O ey r-.-. ;.‘, r o lr i & - }
: ‘
IR i ) - |
[ L r i, & L A= r‘ o t i 7 )
- i a -

() (ii) (i) (A) 1 (B) 6
(A) 1 (B) © (C) 5 (D) 4
> o 13 6 % Rl B & e g

73. What should be the number opposite

b’ 6 6 6
'

hﬂ (1) (i) (il (iv)
’ 3 (i) (ii) (i) (iv) A) 1 8)
) 1 (B) i o 3 oy 4
pC ° . 23] PT.0.
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74. How many rectangles are the

following figure?

S —

re il'"l the

||

(A) 6

(B) 7
o s o 3 O8 o
75. Arrange the following in a logical order. 7 = B afbes 5 & o)
1. Doctor 1. 3R
2. Fever 2. §ER
3. Prescribe 3. e e
4. Diagnose 4, Fem
5. Medicine 5. T
(A) 1,4,3,2,5 (A) 1,4,3,2,5
(B) 2,1,3,4,5 (B) 2,1,3,4,5
(C) 2,1,4,3,5 (C) 2,1,4,3,5
' (D) 2,4,3,5,1 \ (D) 2,4,3,5,1
76. Arrange the following in a logical order. 76. =1 @) aifs &9 o e
1. GOIC! {
2. Iron 3 FI‘IBT
3. Silver 3. 9
4. Platinum 4. Qa9
5. Diamond 5. BRI
(A) 3,4,2,51 (A) 3,4,2,5,1
(B) 2,3,1,5,4 (B) 2,3,1,5,4
(C) 4,5,1,2,3 (C) 4,5,1,2,3
O 54,231 (D) 542,31
77. Arrange the following in a logical order 7/ foret @t arfh 9 § @
1. Never 1. Never
2. Sometimes, 2. Sometimes
3. Generally 3.  Generally
4. Seldom - 4. Seldom
5. Always 5. Always
(A) 5, 2,1,3 4 (A) 5 2,1,3, 4
(B) 5,2,4,3,1 (B) 5, 2, 4, 3,1
(C) 5 3,1,2,4 (C) 5 3,1,2,4
(D) 5,3,2,4,1 (D) 5 3,2, 4,1
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ve ST R

in that row?
(A 17 (B) 18
(€ 19 (D) 20

turned |F.Tft again  and  walkeq 30
meters. Finally he turneq tq the right
~ at an angle of 45°% In which direction
~ was he moving finally?
~ (A) North-east
- (B) North-west
7'-% (C) South west
- (D) South-east
'f: A man walked 30 meters to wards
.~ south. Then he turned to his right and
~ walked 30 meters. Then turned to

his left, he walked 20 meters. Again,

he turned to his left and walked 30

" meters. How for is he from his initial
%

position?
~(A) 30m (B) 20 m
(C) 80 m (D) None of these

Bl, Read the following information and
~ answer the question

;} 1. Six friends A, B, C, D, Eand F are
- sitting in a closed circle facing the
~ centre

| 2. Eis to the left of D.

- 3. Cis between A and B

-_34. F is between E and A

~ Who is to the left of B?

3 (A) A (B) C

(C) D (D) E

91512024

(25

28, U GRp o dee @ fufa amr A 124 3R
e A 741 21 39 ufts ¥ fba=r @fts &2

(A) 17 (B) 18

(C) 19 (D) 20

79, 30T FAR Y 3R 75 M. g 7 &l &, Y
ag ardt 3R 731 3R 25 . Tewar 81 a7 R
ardi 3% Tgar & 3R 80m Tewar &1 3 H
a8 2t 3R 45° & P07 W 3T 81 3 H
ae fopw R o @a <@ 27

(D) aféor-gd

80. UP A Sf&Ur @Y 3R 30 A, Terar 2l i
98 3 Y Wgar & 3R 30 #. aew 81 a8
fR §id oo & 3k 20 /. Terar 81 fR |
98 a0 qgaT & 3R 30, Terar 1 98 A

TRANS ®IF ¥ o R 82
(A) 30m (B) 20 m
(C) 80 m (D) 399 ¥ PIS &I

81. =1 smRY & 3maR R Fr=feiRad yea &

FR afe|

1. 6f@A, B, C, D, E3RFU® aE R
&% B 3R 7@ B> 8 &

2. E,D® ad 3R 2l

3. C,A3RB®daH R

4. FE3RA® dadgl B a3k

B &7
B & a1 3R @9 &7
(A) A (B) C
(C) D (D) E

P.T.O.



B C=
82 Read the following and answer the 82 TR & R 17 Fresfrfaa g9 @1

question. S é\%m

1. Six friends A,B, C, D, E and F are L. 6fm A B Cc D £ 3 F o 4z X
sitting in a closed circle fucting F ah_{ ' m 4 3
the centre. 2. ED® gih 3-1’21

2. El'stotheleftofD. 3 CASﬂ?B@Béﬁaﬁgﬂ

3. Cis between AandB 4 EEdRAS S

4, Fis between E and A CH E.'T;ﬁ el

Who is to the right of C? 3R B &

(A) A (8) B (A) A (B) B

1 D (D) E (C) D (D) E

83. Read the following information and 83, g FES X arere 03 RrsfiREd 59 @
answer the question:

1. Six friends A, B, C, D, E and F are jﬁ?aﬁ’rﬁi |
sitting in a closed circle facing the ' Ei A, B,C, D, E3RFUH TR
centre. A & @l 3R g8 o 33 ¢l

2. Eistothe left of D 2. ED® & 3R &l

3. Cis between A and B __ 3. CAIRBHATHE

4. Fis between E and A \ 4, FERAGSUFR

Which of the above statement is TR 3 B 1 e SRR 27

. |
. T @ 2 A (B) 2
| (C) 3 (D) None of these (€) 3 (D) ¥ ¥ B Tl
. 84 In the following question two statements  84. {7 & # & & P 3iR Q fad ma €1 FTD!
1 P and Q are given. You may look into afds Werdar $ UR | 309 TR DI

their logical acceptibility and mark your frr 1R A R

answer as: |

1. If both P and Q are true L. a’FﬂaSWPSﬂTQW'él

2. If Pis correct and A is wrong 2. P& 3R QI Rl

3. If Piswrong and Q is correct 3. P3E™ g IR Q 9™ &

:. | If both P and Q are wrong 4 2Mt P 3R Q s )

: some mangoses are apples. All _
- grapes are mangoes. Therefore P: P3N g & g AR 3™ gl 3ra:
| all apples are grapes. gt ¥ IR &
| Q: Some mangoes are apples, All Q: o6 3 A7 2| T g IR | 3
apples are grapes, Therefore AT 3“3 #)
Some mangoes are grapes. o0
(A) 1 (B) 2 (A) 1 (B) 2
(€) 3 (D) 4 (C) 3 (D) 4
18099\5\2024
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86.

87.

P apd Q_are given. Yoy Ma Sﬁatement
their logical acceptbility andY 0ok into
answer as: Mark your

L. Ifboth Pand Q are try,

T A WN
pd
-
O
- all
=
=
O
-
w
QU
=
Q.

(A) 1
(C) 3

IIJn;:Z fg"::: nggi jeUnESE:on two statement
their logical acce t. p‘u - £00K intg
ptability and mark are

answer as:

1. If both P and Q are true

2. IfPiscorrectand Q is wWrong

3. IfPiswrong and Q is correct

4. If both P and Q are wrong

P: Jackals live in forests. Cities are
in forests Therefore Jackals live in
cities.

Q: Some tables are grass. All stools
are grass. Therefore all tables are

stools.
(A) 1 (B) 2
(C) 3 (D) 4

Choose the figure which is different

from the rest.

<

1 2 3 4

(A) 1 (B) 2
(C) 3 (D) 4

18099\S\2024

85.

86.

o=t w1 # @) ®ere P 3R Q & M 8| I

arffhs BRI 6 IR W T FTR P
ﬁﬁﬂﬁﬂ?é:

1. @l dU9 9 2

2. Pyw g3k Q 3w 2

3. P3¥A R 3IR Q¥ 2

4. TP 3R Q 3

p BATDR eaH a1 8| I Herdp

Q: W BATPR eFa &l dls W e=aH
e faag 78 8 3 deaeR fa g
el &

(A) 1

(C) 3

(B) 2
(D) 4

7 o 3 @1 o P 3R Q & T &1 I

qifthe eIl & AHTIR AT TR I =

THR al

2 U TA &l

P g & 3R Q 31 &l

P 3 & IR Q 94 &l

P 3R Q T 39 2l

RaR 3 A B & IR I | g

37q: ROR 98} # & 2

Q: TB U UM 8| 9 |o U 2 3
q AT | &

(A) 1 (B) 2

(C) 3 (D) 4

T AW

87. 39 Ppid B I 3 3 F R 2

(27]

Qe

4

(A) 1
(C) 3

(B) 2
(D) 4

P.T.O.
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. . 8.
88 Choose the figure which is different 85 3N 3gf B G T 3 A i 2

Hee SvEle

1 y, 3 4
(A)- 1
(A) 1 (B) 2 o2 &
(C) 3 (D) 4 )3 (D) 4

89. Choose the figure which is different 89. 39 3Npfer Py TR 3 3 & firg 2

from the rest.

(A) 1 (B) 2

(A) 1 (B) 2
(C) 3 (D) 4 (€) 3 (D) 4

90. Choose the figure which is different 90. 39 3Pl B gﬁ'& 3= 3 R 2

from the rest

1 2 3 4

(A) 1 (B) 2 (A) 1 (B) 2
(C) 3 (D) 4 (C) 3 (D) 4
91. ForwhatvalueofPthefoIIowing matrix  91. PaS%HHHa?%UﬁWﬁEWﬁWm?
may be singular? 71
i 5
2P (A) 5 (8) 3
® 5 ®) 2
© 3 4 (C) 2 (D) W & P 7

18099\8\2024




value of x is

— ' 4 2X - 3
" X + 2 X+ 1
(A) 0 (B) 2
(€) > (D) 3

93. Matrix (AB) is equal to:

(A) E (B) A
(C) At Bt (D) Bt At

g4. In a town, 65%
iyl rz:;zli ewatched the
25% read a newspaper _operang
the news on TV also Whaatnd ]
' percentage
of people neither watched the news on
TV nor read a news paper?
(A) > (B) 10
(C) 15 (D) 20
95. The age of father is twice that of the
elder son. Ten years hence the age of
the father will be three times that of
the younger son. If the difference of
ages of two sons Is 15 years, the age

of the father is
(A) 50 years (B) 55 years
(C) 60 years (D) 70years
96. If Tuesday falls on the fourth of the
month, then which day will fall three

days after the 247

(A) Monday (B) Tuesday

(C) Thrusday (D) Friday
97. If the 25th of August in @ year '

Thursday, the number of Mondays In

that month is

(A) 3 (B) 4

(C) 5 (D) 6

18099\8\2024

93.

94.

95.

96.

97.

| 4 2x-3l
AZIx+2 x+1
(A) O (B) 2
(C) 5 (D) 3
AR (AB)! & &
(A) B (B) A
(C) A'B (D) B*A'

%ﬁmﬁ%%aﬁﬂwmwm

(A) 50years (B) 5>years

(C) 60 years (D) 70 years

afE @R weM @ el ariE P usdl

2 a1 24 ARG & A & @ dF w1 fem
HAT?

(A) WHAR (B) HIEER

(C) TR (D) YEHAR

afe Tl ad § 25 3nrd @ HAR @ dl 39
A # HHaR @ F@al gl &

(A) 3 (B) 4
(€) 5 (D) 6




- 98. 1 3y 4 * .
98. In the following diagram, trlaf'l?;z A A ﬁ’ﬁ m ®I, dd Raentsal
| doctors, the < T 3T BererR) B wafdfa wwan

represents artists

| i the diagram IR § Pl i e gEest o awfd @ 5
e e e 0 0% S0y e e
players and artists? (A) 2 (B) 3
ST ey | e o
09 1In the following diagram triangles 99, i arfy % Bt zraesi @1, g Raenfsa
| represents  doctors,  the  circle B! TAT T BATBRI DI Yar3d HLal &

represents player and the rectangle

represents artists \ .

2 |
1

‘ 1 e # 3 A e 3 FAER! B awh
| | Which number represents artists who % S et F@Fﬂ‘@ gl
.J | are players only? ' (A) 4 B) 6
- (B 6
Eé; ;{ ED)) g8 (C) 7 (D) 8

i 100.In the following diagram, triangle  100. = 3@ # Brys st &, ga Reenfeal

represents  doctors, the circle T
represents players and the rectangle I A T BN FARI Bl &

; represents artists Q

e

| N ARG H B W W= I FATBRI P 2T
number represents artics:
N e o noe;ndg ;;tgtls who g 3 A af RaerE) @ 9 & gres &
(A) 1 (B) > ' (A) 1 (B) 2
: (€) 3 (D) 4 (C) 3 (D) 4
}; 180991512024 0] .




